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Name: 

Daily Word Problem

A-56

answer: ____________________

Mel is counting by 10s.

10     20     30...

What number will Mel say right 
before 60?

Show your work.



Name: 

Daily Word Problem
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A-57

answer: ____________________

There are 7 stores.

5 stores are closed.

How many stores are open?
Show your work.



Name: 

Daily Word Problem
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A-58

answer: ____________________

Jade has 5 baseball bats.

Chad has 3 more bats than Jade.

How many bats does Chad have?
Show your work.



Name: 

Daily Word Problem

A-59
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answer: ____________________

There are 4 kids at a bonfire.

Each kid has 2 marshmallows.

How many marshmallows do they 
have in all?

Show your work.



Name: 

Daily Word Problem
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A-60

answer: ____________________

Bart went bowling.

He knocked down 6 pins.

Then he knocked down 2 more pins.

How many pins did he knock down 
altogether?

Show your work.
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Daily Word Problem

ANSWERSA-56 through A-60

answer: ____________________

Bart went bowling.

He knocked down 6 pins.

Then he knocked down 2 more pins.

How many pins did he knock down 
altogether?

Show your work.

answer: ____________________

There are 4 kids at a bonfire.

Each kid has 2 marshmallows.

How many marshmallows do they 
have in all?

Show your work.

answer: ____________________

Jade has 5 baseball bats.

Chad has 3 more bats than Jade.

How many bats does Chad have?
Show your work.

answer: ____________________

There are 7 stores.

5 stores are closed.

How many stores are open?
Show your work.

answer: ____________________

Mel is counting by 10s.

10     20     30...

What number will Mel say right 
before 60?

Show your work.

50 2 stores 8 bats

8 pins8 marshmallows

10    20    30    40    50    60
7 -- 5 = 2 5 + 3 = 8

2 + 2 + 2 + 2 = 8

6 + 2 = 8


